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1. A population numbers 11,000 organisms initially and grows by 8.5% each year. Write an
exponential model for the population.

Let P(t) = population after t years.
Then, P(t) = 11000285t

3. A vehicle purchased for $32,500 depreciates at a constant rate of 5% each year. Determine the
approximate value of the vehicle 12 years after purchase.

Let V(t) = the value of the vehicle t years after purchase.

V(t) = 32,500e95¢
= V(12) = 32500e%5(12) = 32500¢0°
~[V(12) ~ $17,836]

5. If $4,000 is invested in a bank account at an interest rate of 7 per cent per year, find the
amount in the bank after 9 years if interest is compounded annually, quarterly, monthly, and

continuously.

Let A; = amount in the account after 9 years at 7% interest
per year,
compounded annually.
A; = 4000(1 +.07)° =~ $7353

Let A, = amount in the account after 9 years at 7% interest per
year,
compounded quarterly.
36

07)9%4 07
Ay =4000(1+)  =4000(1+%) =~ $7470
Let A;, = amount in the account after 9 years at 7% interest per

year,
compounded monthly.

Az = 4000 (1 + f—Z)gm = 4000 (1 + _;)_27)108 ~ $7497
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Let A. = amount in the account after 9 years at 7% interest per
year,
compounded continuously.

A = 4000e°7® = 4000e%63 ~ $7510
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